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Time : 3 Hours
qHT : 3 gUS

Note: (1)

(2)

(3)

697 /Mimansa (ii)
Research Entrance Test-2023

No. of Questions : 100
Y91 skt €= : 100

Full Marks : 400
qurls : 400

This Question Booklet contains 100 objective questions (MCQs)
of which 50 Objective questions are based on components of
Research Methodology and 50 Objective questions are based
on concerned subject.

9 ULA-RTH H HA 100 TS 997 (THoHoFo) € |
ST 50 axfTe use <Y Ul & Huchl 93 SAEma 8
AR 50 IEfrse gs= defad favg ud &5 o onaa 2 |

Attempt as many questions as you can. Each question carries
4 (Four) marks. Zero mark will be awarded for each
unattempted question. There will be no negative marking for
wrong answer.

IA 99T B BA HIA BT JIH B oTaAT 3T HT Tob | IIh
U 4 (|X) SFhT &1 2 | e AT 99T H Ui A
BN | T 3cdY o [T bl SROMHS i el 3T S |

If more than one alternative answers of MCQs seem to
approximate the correct answer, choose the closest one.

i IS TSl & Teh § 39 Jehicdsh IOY el I &
e udid 8f, af Mehead 98l I < |

3 P.T.O.
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Instructions (Q. No. 01 & 02) : Review the given figure which shows the 88. UIHIEME: JUH -{f’[ fm"l{ ?
manufactured vehicles by two companies A and B during the year 2015 -
to 2020. Choose the correct answer for each question given below : (1) ERIICEEEIR) (2) B e:
REQ (Jo Ho O1 &« 02) : FHUaT F19 &Y 73 36 oA ad 2015 @ (3) ATl SrRIfSrre (4) SATQl e SHREATEE:
2020 % IE & FUFAET A ik B @y ST aredt @i gerar &, @
GHET FHITT | = &G ™ g% U F e g8 SO giHa | 89. HHHME!: YHhN: &: ?
Number of Vehicles Manufactured by Companies A and B during (1) TeR: (2) e
2015 to 2020
(3) @q”ia: (4) HHRL
400
335 336 337 90. ATSSdfaRIet wafd |
S RGP SURELIPT PR . .
a0 |22 TSege"  CSegec (1) SYHSE: (2) SUHEHEY:, STHALTY: I
233 234 235 )
20 1775 206 207 (3) o SUSHHEY:, 7 o ITHEREA:  (4) IUSHAT:
No. of Vehicles _/W
Manufactured == Automobile Company A
= = @l= Automobile Company B 91. A A ||§;‘| ENBRIN
= | (1) (2) wepfa, fospf:
” (3) forepfa: (4) ¥ Jehfa:, = fashfa:
0 T T T T T 1
2015 2016 2017 2018 2019 2020 )
Year 92. YUl Wafd |
(1)  fasmdt, 7 gt = (2) ¥
\ 3) foet 4) fodt, yadt =
2015 & 2020 % 3R FF A AR B &N ) )
it arest 1 de .
O ww 93. Ul Walfd |
310 __—.—-__:“'__-l-...__:“ -—‘.
T e (1) wREER 2) fefam
250 206 207
. zgs/W
faftfa ar & den z:z ==t T A (3) %l'f%[%ll'l:[\ (4) aﬁ%ﬂ{
100 - MB
50 : 94. 3|%|Q|§@ a9 |
1 (1) ™ (2) wHwH
2015 2016 2017 2018 2019 2020
" (3) TERHR (4) TR

4 29 P.T.O.
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80. 3TH TG Herld, Iqd | 01. If G, and G, denote growth rates of Companies A and B from 2015 to
(1) SYIATHIET (2) STHALThI&N 2020 respectively, then which of the following is true ?
(3) ®MY (4) HH: RIS GIBﬁTGQ HAM: 2015 T 2020 T% FHFAT A X B & gha 3w &
gelia €, O Fr=fafed § @ &ia-a1 99 8 7
81. TSI |f | (1) G,> G, 2) G,<G, (3) G,>G, 4) G, <G,
(1) 9= (2) TehleX

02. Difference between the average vehicles manufactured by the

(3) < (4) - companies during the year 2015 to 2020 is :
) o . , g 2015 F 2020 & I FHHFET g7 MEHT aedl $ ofrad &1 ofdx
82. ‘T YU §g; Wald 7 | Y vaiieh Ut 3fq IQLuM | s .
(1) <R 2) fog=
(3) TR (4) T (1) 205.5 (2) 105.0 (3) 103.5 (4) 107.5
03. The pie diagram given below, shows monthly expenditure of the two
g g y
83. UuHad g faufsh: | families A and B on various items along with raw data of expenditure
(1) IRl (2) IFGIRI as mentioned in the legend. What will be the ratios of radii of circle A
(3) f= (4) M to B in constructing the pie diagram ?
) = fam o omw, =g & A offhs @ 9y v wEl 9w &
84. THIEER: A1 | gfEal A eIk B & AMfd% =09 & S90ar 21 98 oIR® & famier &§ g=1
(1) o7 (2) ARfETERUEAT: FEEERI A | B ®1 fFowmelt ®r sgard o grm 7
(3) THEFRITH (4) URTHGENR: (1) 9:10 (2) 100:81 (3) 10:9 4) 1:1
85. Y kR fererm: fer: &: ? — S —
(1) 3 (2) foeem Family A ! amily
(3) AT (4) o= TRER A TRar B
h | OFood HISTH
N ~ . H Food $I51# | (¥. 2700)
86. ISid oI <hid 3i9Mm: | ? i | / | O cloth 57
- 22.22% i
(1) TUeh: (2) == "[C:“;;;? | ! / ';11;; g (5. 800) I
(3) wRER: () = | oo || —— [“m } e
T % | (%. 1500) ] Isszjﬂ JII s o
. \ Education \ | Education / O Education
87. UHWI ThH ISRV Jad | | ey NN I | |\ R 1;1.2..3.5%\ [ wis0o)
. . /| gent e (.2000) I / Rent | isc. fafaer
(1) = (2) F: L g A NG g RN
(3) HeTeSIHTEITH (4) = ) | ot | |

28 5 P.T.O.
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Instructions (Q. No. 04 & 05 ) : Review the monthly website traffic
data for site xyz in the year 2023 provided in the data below. Choose

the correct answer for each question given below :

fHEsT (Jo Ho 04 1 05) : Huam g f&w 70 a9 2023 # HAE< xyz %
qifass daarse IAEd STThS] &l Ui & | 9 BT U g% us—q &

foe |8 ST gH

Monthly Website Traffic data for the Site xyz (Year-2023)
xyz AEE % [AQ AT J9dEe qaE Siwel (a9-2023)

Month
LK
January
SECEl
February
EECE]|
March

AT

April

S e

May

2

June

SiA

July

g
August
STITET
September
=R
October
HFGSX
November
SERESES
December

[EESE=EY

Visitors
ENET
3,50,000
3,80,000
3,00,000
4,20,000
4,00,000
4,50,000
4,30,000
4,70,000
3,80,000
4,10,000
4,80,000

5,00,000

RET/23

72.

73.

74.

75.

76.

77.

78.

79.

TEIIHSUTHT AR o 3TaTd: 7

(1) e (2) AFTIAACIAE
(3)  ANTIATOTHHTEE] (4) amRA

AfaeheUeh el Shfafaen wafd -

(1) Taferen (2) vfasn

(3) =gferen (4) wefamn

gy smmTfafd e waq -

(1) s (2) TR

(3) afame (4) W=

SgreRuETd: Jafd |

(1) o () efga:

(3) 3w @ T

Iq: 9afd |

(1)  STTHERTI: (2) FEETHTIL:

(3) FRIGEHERI: (4) FrefEm:

3 sienfy: 7 vt |

(1) = @) =T

(3) U (4) TEE:

yeheut fafTarseh wfeq |

(1) ST (2) SFHATGH , STHAETH

(3) ST (4) STHRTITRATY

‘T ol <fg; T, 7 W v i’ 3 Sereon 5 |

(1) === (2) TEHRE

(3) ehHO: (4) T ey
27
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65.

66.

67.

68.

69.

70.

71.

(R

CTURCIERIS I

(1) ST (2) T

(3) fshamm: (4) SO

Y A1 TAq I9 SRAd A FATSIAST S5O 3 3SR 3T |
(1) s=I=F (2) USRS

(3) HHIL: (4) &MY

Yehd: ISTRLO |

(1) G (2) HTEh:

(3) wEiquiHET (4) <NEHId T SAEI(E: qq FH
HHATGTISST: Fafd |

(1) o (2) S, ot =

(3) Wl (4) 7w, 7 fagd
STTEETS T |

(1) ST (2) ==

(3) SATHH (4) Agmta:

S Fea A FA, &d STTHA 3o+ Joied JHI0T .. |

(1) gfa: (2) SAER:

(3) (4) SEmaf:
TEIIHSUET JHARTEer: e ST 2

(1) e (2) fag

(3) TR (4) TEREEA
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04.

0S.

06.

What was the percentage (rounded to zero) decrease in visitors from

April to May ?
AU | HE q®, A1 H UK (YT IX YOTRd) HHI Rl © 7

(1) 8% (2) 5% (3) 10% (4) 15%

The average monthly visitors (rounded) for site xyz in 2023 is :
gEe xyz & [0 A 2023 F Ags ofrad agfw (gorted) fhas o ?
(1) 414165 (2) 414167

(3) 414168 (4) 414160

What does the term 'outlier' refer to in data analysis ?
SAtpst & fasqwer § ‘afewy wew’ == @& F1 o7f © 7
(1) A data point that lies within the expected range
il g o o € & A
(2) A data point that does not fit the overall pattern of the data

T AT forg S oiiepel & a Yot & fpe 78 2m B

(3) The average value of a data set

AR T H S 7

(4) The data point that lies between the first and third quartile

SRS Ag=ag ¥ Ued ofR drR =gl & o= & A

7 P.T.O.
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07. What does a p-value in statistical analysis indicate ? 58. 19|ﬂ|5ﬂ|-|\ agid’ scas vafd -
qifegs fagaeer § p-g= @4 R HXar ® 7 (1) ergeifafe: (2) fafremfafe:
(3) UREwEATtary: (4) Tramfafe:

(1) The size of the data set

. o 59. ‘fad TSRl s Fase e foRvum -
HATbel & TIead H B

(1) &r: (2) TeRTRTTE
(2) The probability of obtaining results by chance under null (3) eq@; (4) B
h hesi NN
ypothesis 60. RAIIMI ddd -
L URETT & SR TS Bl ATHRAD TG F I HA Bl Gl (1) HTEHR: (2) I

(3) THfdHR: (4) TIe¥ER:

(3) The mean of the data set
61. 3T LD 7 |

SATHST & TY==IT HT HIHA

(1) HATHAMH (2) e
(4) The variance within the data set (3) wfqu: (4) fafa:
SATHS H TI=T B TA 62. S Hidfae: ?
(1) Tfas: (2) e
08. Which statistical measure describes the central tendency of a data set ? (3) TehfaH: (4) Tgfas:
HF-AT FiRFHE A9 3ihRS! & A= & Hard 9gia &l goi Har © 7 63. TSR geend: |
(1) Standard Deviation (2) Range (1) ST (2)
(3) SITEUToRIY: (4) STSITRI:
e femre TAR
64. °|')'{U|‘|('|H°|')|{°|')|°|')|S’\&:|T qafd |
(3) Mean (4) Variance )
(1) Seaehian (2) THETIETRTSET
i il (3) wErEEEET (4) SHOoTET

8 25 P.T.O.
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51.

52.

53.

54.

55.

56.

57.

“Tog JogaEn: v’ s At -

(1) frwfafy: (2) UREwEAtary:
(3) 3Tgdfafy: (4) T
gueeas Tl T ?

(1) g (2) Hesm

(3) faumAfaas: (4) AfgAH:
Uiy & TReREE YHYw: S ?

(1) HIEHRIREH (2) HURESREES
(3) UHHIHIGREY (4) 1 HEMY |
I — T S -

(1) AR (2) AT
(3) ShIITE (4) HHEERTEST |
Hrmrer ves; e -

(1) ‘“Htemar: (2) ‘T =’
(3) HM Em: (4) Fg @E: |
qmed gaqEHi feafaeiad -

(1) gfa: (2) e

(3) femy (4) FEHTIH
&I Hdl HHTT I -

(1) S (2) I

(3) HUMEH (4) TaaEa
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09. Which of the following is not a primary purpose of a literature review

in research ?
=1 & & @i arfec aHieT & e 3% T8l © 7
(1) To summarize the researcher's findings
SN & AT H HACHB
(2) To provide a historical background of the topic

fwr a1 Qfceiiaes TodfH Ta w

(3) To identify gaps and justify the need for the study

ST B TEdN BT A ST B AR I I S8l
(4) To present statistical analysis of the data
ATt o i fasaser awgd &
10. Which research design investigates the cause and effect relationship
between variables ?

HIT-AT ATHI ARTHTT T H dF AAE-HROT GH= FHl S Bl
g7

(1) Descriptive design (2) Correlational design
Ui AR HEqrTTh HARHT
(3) Experimental design (4) Case-study design
SN SATTehed HE-AHTT HAHHT
9 P.T.O.
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11. A longitudinal research design is : 48. Find out the median of the given data set :
UF STIH AFHUM STHET T 11, 12, 14, 16, 16, 10, 18, 19, 9, 20
1 . 1 . 1 : 1 1 = *
(1) Studying multiple groups simultaneously = SifeheT Tz # HeEET S B

%3 TYEl H GHHINAS AT

(2) Collecting data at a single point in time 11,12, 14, 16, 16, 10, 18, 19, 9, 20

TH & T W SAHS! H HHET (1) 15 (2) 16
(3) Observing participants over an extended period of time (3) 13 4 17
Th fereTiRe GHATErY e ST 1 e
(4) Analyzing historical data 49. The vertical axis in a graph is known as :
Qs aThsl &1 AT & TE H FHeaigy A& H AT AT B
12. In stratified random sampling, how the strata within the population (1) Reference Line (2) Abscissa
are decided ?
Thd ages dfdeed § Sden & @ & FEiRer &9 A S 7 THEH @l Qs
(1) Randomly (3) Ordinate (4) Double ordinate
Tgfes® w7 A aiffete T9q Sffere
(2) Based on specific characteristics of population
SEE & fafdrne faQuarett W eneaRa 50. The marks of 100 students of a class revealed that about 80 students
(3) Using a pre-defined pattern scored below 20 marks, 10 students scored between 20 to 80 and
gg-MaiRa e ®m ST Hh remaining scored between 80 and 100 marks. Which of the following
(4) Using geographical proximity statements is correct for such data ?
A e G & ST 9% Teh e & 100 BEI % Fehl § el =l o T 80 BB 7 20 § FA b W
13. The sampling method in which after random start, every 'kth' individual fT, 10 BRI | 20 ﬁ 80 % S i oI T AR 99 7 80 | 100 3 % &
is selecting from the population list is known as : 3 < fpw TE \3:|Y|'°|T€":T 3 fore fr=ifoiag & & @9-a1 F @@ R ?
UF AREEH AR & YA SEe g & gdw ‘kar @fea & oaata (1) Mode of the data will be 30

A gl g oty 2o

(1) Simple random sampling

HFSl F TgaH 30 B

T <4|§_i;~t9°b P IRELG (2) Skewness of the data will be negative
(2) Systematic sampling SATHSt H1 XSO FOMHE BN
EREC-WIRERE] (3) Kurtosis of the data will be equal to 3
(3) Stratified sampling drl%\':‘:i 1 Fgadl 3 & ST BT
ISMENEEINCER]

(4) Skewness of the data will be positive

(4) Cluster sampling e
3HSl HI WU g91HE® BT

eS8 U=

10 23 P.T-o.
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45.

46.

47.

The checklist used to improve transparency in systematic reviews is :

Faieed gHemedl ¥ qRERidr & 9'd¥ 999 % [T SYIIT $H A= arell
Apferee B -

(1) META (2) COHEART
LEECIY ISR EE |
(3) PRISMA (4) MAXIME
(63 RS | Rl Ly THULFISTIRUS

Which among the following pair is not correct ?
Frefafad o & ®HiF-a1 379 a8l q8l © 7
(1) Regression — Galton
SRR — feed
(2) Correlation coefficient — Pearson
qedsy T — e
(3) ANOVA - Fisher
T - R
(4) PCA - Gauss

JiET - |

The digital repository of theses and dissertations submitted to
universities of India is known as :

AT & fagaiaemel #§ 9% gd Y gl ud ene e & fSived s
®H ST ST 8

(1) Shodhganga (2) Shodhsindhu
ST SNy

(3) Shodhgangotri (4) Vidwan
NIBHUIE] CEL

22
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14. Read the following statements and choose true statement(s) :

Frfafad ®a«l &I 98¢ IR §eF HUT A

(a) Independent variables are unknown variables.

Was =X TG ) 2

(b) Dependent variables are unknown variables.

¥ =¥ TS = B

(c) Research decisions are made on dependent variables.

STIEEN o i o W B 9 2
Code :
EE\E :
(1) Only (a) (2) (a) and (b)
T (a) (a) 31X (b)
(3) (b) and (c) (4) (a) and (o)
(b) & () (a) IR (c)

15. A Which of the following is not applied in research involving qualitative

variables ?

Frefafed § @ &9 Iomes =10 6 Mied #wR a AgEa §OugE
&l 2rar 8 7

(1) Proportion (2) Diagram
(3) Odds ratio (4) Mean
EEEECRIR] areg
11 P.T.O.
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16. A subset that is chosen from population is known as : 41. The sampling method generally used for gathering information on
rare events is:
Uk IrEg=Id B8 0F SEe g gAr S @, dean ¥ gAY g UR MRl WS HIA & [0 qrEradr uiderme Gt @
: SYART fRar e ®
(1) Parameter (2) Variable ) i
(1) Simple random sampling
RIEN RN SEGIRIFEI R NOR |
(3) Sample (4) Statistic (2) Stratified random sampling
- i T UGBS =g
3 AR (3) Snowball sampling
A (ENtq) e
17. Kurtosis of a standard normal distribution is : (4) Systematic sampling
U% HEE TEHRT fGa¥er #I fEHEar © o S
(1) Zero (2) Three 42. The number of possible samples of size 2 out of a population with size
g - 5 using simple random sampling with replacement is :
I qicRIe & 91 93Xd Jeiesd giad_ Hl IUANT HXh AR 5 Jwl
(3) Two (4) One SHEET § ¥ SR 2 9uEd §diad Uiaestt @l §Em g e
(1) 25 (2) 20
a i (3) 10 4) 12
18. Which among the following is not an example of primary data ? 43. Among the following sampling methods, which one falls under the
) . probability method ?
Frfafed & & SrT-a1 s Aws F1oSTET TR 7 frfefaa dfeeew fafrdt & & fi9-ar Guear &ty $ efafa emar 8 2
(1) Data collected through surveys (1) Judgement sampling (2) Quota sampling
HIOT $ AT THET SiTbS ol st I AT .
(3) Cluster sampling (4) Convenience sampling
(2) Data collected through interviews TS P INELE] ﬁi%[%ﬂ P INELE]
HIATHY & e | THB fihs . .
44. The measurement scale with an absolute zero is :
(3) Data collected from experiments Frder g ameft "o ®
TANT ¥ TR 3AThe (1) Ratio Scale (2) Interval Scale
. RRIGEEINE ST AT
(4) Data collected from national c?nsus reports (3) Ordinal Scale (4) Nominal Scale
TSI SO Wiae & THEd Sfhs HRE Ao T Ao

12 21 P.T.O.
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39.

40.

What is full form of USB as used in computer related activities ?

HrgeY A wefed et #§ SuR 89 art USB 1 9ol &9 1 & 7

(1) United Serial Bus (2) Ultra Security Bus
TAEeS kG 99 ey e 9|

(3) Universal Security Bus (4) Universal Serial Bus
Fiade R s| Fiada diRad 9

Match the given study designs in Column-I with Column-II and choose

correct option :

-1 7 @ T ofemae Srfiiehedl B & (I 9 e ofiy 9@ faseew

ESiE
Column-I Column-II
-1 T -11

A. Cross-sectional (i) Data comes in future.

EAIREN G Hiws Afa= § frad 2

B. Case control (ii) Data comes at present.
B Frold 3 aaae & e 2

C. Cohort (iii) Data comes from past.
HETE Hiws @ 9§ B

Code :

g

(1) A-(ii), B-(ii), C-(i) (2) A-(ii), B-(i), C-(iii)
(3) A-(iii), B-(ii), C-(i) (4) A-(i), B-(ii), C-(iii)

20
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19.

20.

In an experiment conducted on goats, the following were measured
on each animal in the study : Sex, weight (in kg) and birth order. The
scale of measurement of these variables are :
FHAT g¥ fFT T T AT H, TIE H TS SoHdaX U MHErad i
qM9T =T /A, g (RRITe H) ofR SWH | 3 I & JIIA HOugE
Amafar €
(1) Nominal, Ratio, Ordinal (2) Ordinal, Ratio, Ratio

A, U, hith
(3) Ordinal, Ratio, Interval (4) Nominal, Nominal, Ordinal

A, T, e

h{¥eh, STUI, STgUT

hitieh, ST, ST

Which of the following is not an appropriate tool for data analysis ?

Frefafad § | @ia-a1 Ser [Fsaver & U S9ged SYHOT T8l © 7

(i) SPSS (ii) MS-Excel
THo Ulo THo TH THoUH o-TFd
(iii) R (iv) Python
HTYT qra=r-
(v) Windows
forerst
Code :
EEE' be
(1) Only (ii) (2) (i) and (iii)
ad (i) (i) oI (i)
(3) (i) and (iv) (4) Only (v)
(i) 3R (iv) I (v)
13 P.T.O.
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21. Match the Column-I with Column-II and choose correct option : 36. Which among the following is not an example of plagiarism detection
T -1 B ' -l G e ok "d faser g software ?
=l & | &9 alfefcds® = H1 9dqT d i drFedax &l IaeT0T
Column-I Column-II JHF S ?
w9-1 wH-11 (1) Mendeley (2) Drillbit
A. Explanatory research (i) Understanding causes and Hed ESIEE
consequences of phenomenon (3) Urkund (4) Turnitin
TS ST gl & HRON SR GROMH! & qer LS afifest
B. Descriptive research (ii) Discover new phenomenon
. ) = & @ 37. Which among the following is a referencing software ?
qUIHIHD YA gl . e -~
3 Frfafad § 9 HI9-91 T IHET digeday 8 7
C. ExploratOI:y research (iii) Describing existing phenomenon (1) Canva (2) PubMED
ST g el ST 0 T el EELE
Code : (3) EndNote (4) Sci-Hub
g : F=Ale SIERCE|
(1) A-(ii), B-(iii), C-(i (2) A-(), B-(ii), C-(i
(3) A-(i), B-(i), C-(iii) (4)  A-(iii), B-(i), C-(i) 38. Which among the following can be used as post hoc test for means ?
Frfafaa § @ &9 "l % e qiee-gfd e &l a9 © 7
22. When the person lifts material that they have previously published (1) Run test
and passes it off as their own new work is known as : = g
ST HIE AR FAOAT gBd H THMRE HI T3 AHEAT HI dar © 3T I (2) One Sample t-test
AYY AT HE H BT H UG HIAT &, A 3H HE[ Sl 8 uF Sfest e
(1) Mosaic Plagiarism (2) Accidental Plagiarism (3) Chi Square test for goodness of fit
Mo dfefeas =1 HHRAF Tl ANy Ted A% e & fom w1 & qRiE
(3) Self-Plagiarism (4) Minimal Plagiarism (4) Independent t-test
-l = ATH |ifefesd = e =T

14 19 P.T.O.
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33. Which of the following experimental design is preferred when one of 23. Following are some steps used in research. Choose the appropriate
the factors needs more experiment material than the second factor ? sequence of steps in completion of research work :
ST Rl TH Hh Bl gAX BHH Bl godl H A TH GE H M F ITRT Y A ad B =0T Frafared € | e HE &l QR 6
AR Bl 2, a@ e # 9 fRE uEemHs Afueey & % fom =xemt &1 SfEa w9 gH
grrfear & S 7 (i) Literature survey
(1) Latin Square Design (2) Lattice Design e Faerer
RIS ECURE IR e Afeg e (ii) Developing hypothesis
(3) Split plot (4) Strip plot BTG BT [GhTE HTT
o - iii) Preparation of research design
Reare it ReY wife (i) Prer
STEYN STEed TR BT
34. The minimum number of levels in an experimental design should be : (iv) Sampling plan
Teh TREIEeh ATMhed § T Bl PAqH GE&A gl =ed " ﬁhﬁw
v) Hypothesis testing
(1) One (2) Two
- & IReeTT T
S - (2) (1), @v), (i), (), (v)
(3) (i), (), (i), (iv), (v)
35. The principle of experimental design which helps in minimizing the (4) (@), (i), (i), (i), (v)
bias is :
TR Sifhey Rl SN IR # SgWdH BYY § Wew wear ¥ 24. What are the conditions in which Type-II error occurs ?
(1) Replication I H=-a Rafoar 8 FEA @me-lI gfe Sow et B 7
- (1) The null hypothesis gets accepted even if it is false.

LA IR ST B W i @i & S ol

(2) Randomization (2) The null hypothesis gets rejected even if it is true.

A HIHTT LI IRERG TG BN W S i & Sl B
(3) Local Control (3) Both the null hypothesis as well as alternative hypothesis are
I g rejected.

T IR SR Sehieds TR a1 STEIBR &l SRl &

(4) Replication and Randomization
(4) The null hypothesis gets accepted even if it is true.

SRR ST g T IREFAT 9 8 W f @i & R sl

18 15 P.T.O.
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25.

26.

27.

28.

Which among the following is an example of open-source data analysis
software ?

freafafag & @ H9-91 SNua-ard STfhsT fIauor dideday &1 U
JeET & 7

(1) SPSS (2) JASP

UHo tﬁo UHo THo @fo To THo tﬁo
(3) Graphpad Prism (4) SAS

meve Bem THo To THo

The word research is derived from the French word :

ae 9r=%, B9 q=5 F 997 B ¢

(1) Recherche (2) Reserch
e R

(3) Ricirch (4) Resorce
e g

Which of the following educational program is not govern by IGNOU ?
e & & F9-ar Afers FEiHT IGNOU & Henfad 78 & 7

(1) Gyan Darshan (2) Gyanvani
M &S EIRCIL]

(3) Swayam (4) e-Kosh
Y -3

-

In Harvard style of referencing for a book, which among the following
comes in the last ?

fpdl g&a® &I BEs Aal H HaHd & & [ Feiad #§ @ @e-an
AT H AT B P

(1) Book title (2) Year of Publication
g & RIS & qH
(3) Place of Publication (4) Publisher

HRIRAT <l ST EEIREY

16
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29.

30.

31.

32.

The mean of the standard normal distribution is :
q% TEMEFT S Hl Jieg &

(1) Zero (2) One
gl T

(3) Infinity (4) Fifty
R =Y

In finalizing the thesis writing format which of the following would
form part of supplementary pages ?

AT T 99 F A w9 39§ FrAfaiad § 9 HF-91 T gl
%1 fewdr enm P

(1) Appendices (2) List of tables and figures
uRRfare iRt S SfBs! ®l gEt

(3) Table of contents (4) Conclusion of the study
et e A ey

Which of the following is susceptible with research ethics ?
Frefafed § @ &9 Agda Afdwar & ufa Afq-dagasia 2 7
(1) Reporting of research findings
sy frepst @ Raifd
(2) Inaccurate application of analysis techniques
EESERISCHICIICIIURN
(3) Choice of sampling technique

yfcaae Al & aae
(4) Faulty research design

Qe g fEsga

The type of ANOVA employed in analysis of Completely Randomized
Design is :

gl qrefes ANeed % [y H ugEd T & AHR 8

(1) One way (2) Two way without replication
TRl el @ AT SR
(3) Two way with replication (4) Three way
SfcTpict & | ST SIRREEA]
17 P.T.O.



